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39- No one Came to his assistance because he had .....

every body.
1) annoyed 2) pleased
3) helped 4) restricted

40- During the war, government had to........ out all
young and old men for further assistance.

1) Cry 2) Call 3) bring 4) stick
41- Hewill.......... young players after heretiresin the
near future.

1) back up 2) support 3) equip 4) train
42- Our Company was.......... in 1357 and has been
producing high quality carssince then.

1) set off 2)caledon  3)caledout 4) set up

43- Thisvehicle carriesthe team’s supplies..... than
personal equipment.

1) except 2) aswell as

3) other 4) besides
44- | haveto..... the child’s parentsto get more
information.

1) contact 2) connect

3) collect 4) conduct
45- You shouldn’t ............ every argument and get
angry maybe they mean someone else.

1) discuss 2) personalize

3) intend 4) suppose

46- When you want to buy shoes, | adviseyou to ... both
of them.

1) wear out  2) makeup  3) put out 4) try on
47- If the personal territory of each deer......... , it causes
the animalsto be over active.

1) increases 2) decreases

3) restricts 4) spreads

48- In certain distances we feel comfortable...... with
people in various situations.
1) acting 2) dealing
3) behaving 4) assisting
49- |n order to pass pre-university, thisbook isa.......
reading for your course.
1) requisite 2) required
3) requirement 4) requiring
50- Which sentenceis grammatically wrong?
1) Having ten children and no in come he was badly
Situated.
2) Having for seen the problem, he could easily handle
the problem.
3) Losing contact with the group can be dangerous for
animals.
4) Hiding itstail, | was unable to find the cat any where.
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